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Sfull marks for the questions.

Answer any five questions.

1. (@) What is quantisation error in a binary
PCM ? 4

(b) Discuss the operation of a binary PCM.
8

(0 Show that the ‘signal-quantisation .
ratio’ in a binary PCM is given by

SNR |Q=1-8+6><n: where ‘n' is the
number of bits in a code-word. 8
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6. Write short notes on any two from the
following : 10+10

(a)
(b)
(c)

(d)

Line coding in digital communication
system

Bandwidth-power trade-off in PCM

Error probability with matched filter for
polar signaling

Discrete Memoryless Channel (DMC).
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